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Translation in English
Sub: Indian Economy (Part-1) (ECG - 101)

Instructions:
1) All Question are Compulsory.
2) Figuresto theright indicate full marks.
3) Inthe case of any doubt the Marathi version shall be held to be authentic and final.
4) While writing answers the respective question numbers must be mentioned in the

Answer Book.
Fill in the blanks with the correct option. (20)
1) Indian economy isa economy.
a) socialist b) mixed
C) capitalist d) government
2) According to demographic theory, in the second stage rateis
high.
a) birth b) death
c) sickness d) starvation
3) iswidespread in India
a) llliteracy b) Weakness
¢) Sickness d) Changing
4) Percentage of populationin sector isvery high in India
a) primary b) secondary
C) service d) trade
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5) is the most important food grain crop in India

a) Wheat b) Rice
c) Bgjara d) Jwar
6) An optimum holding isrelated to
a) education b) agricultural land
C) services d) business
7) Mahawariisa systemin India
a) industria b) educational
¢) land tenure d) business
8) Bhoodan movement isrelated with .
a) Vinod Bhave b) Narendra Modi
¢) Indira Gandhi d) AnnaHgare
9) Agricultura workers are
a) unskilled b) organized
¢) educated d) sick
10) Indian is called agamble in the monsoons.
a) industry b) agriculture
C) communication d) trade
Q.2. Answer the following questions in detail. (AnyThree) (30)
1) Explain the structure of Indian population.
2) Explain the affecting factors on cropping pattern.
3) Givethereasonsfor low productivity of Indian agriculture.
4) State the reasons for poverty.
5) Explain the defectsin agricultural marketing.
Q.3. Answer the following questions in brief. (AnyTwo) (10)
1) Explain theimportance of irrigation for agricultural development.
2) State the demerits of mechanization in agriculture.
3) Statetheinsgtitutional sources of agricultural finance.
4) State the problems to the price stabilization of agricultural products.
Q.4. Write short notes. (Any Two) (20)
1) Structural changesin independent Indian economy
2) Characteristics of agricultural labours
3) Concept of poverty
4) Merits of mechanization in agriculture
Indian Economy (ECG- 101) -AE/ 11 3/3



